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f(x, y)
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*+,+-+ ./01 202 3

f =
1

2yx2 + 3xy

1 < x < 2 4 1 < y < 2

*+,+-+ ./01 25 2 3

f =
1

y exp(2x)

0 < x < 1 4 1 < y < 2

*+,+-+ ./01 26 2 3

f =
1

3x+ x exp(4y)

1 < x < 2 4 0 < y < 1

*+,+-+ ./01 27 2 3

f =
1

y exp(6x)

1 < x < 2 4 1 < y < 2

*+,+-+ ./01 28 2 3

f =
1

4yx2 + 6xy

1 < x < 2 4 1 < y < 2

*+,+-+ ./01 29 2 3

f =
1

y exp(3x)

1 < x < 2 4 1 < y < 2

*+,+-+ ./01 2:2 3

f =
1

3yx2 + 6xy

1 < x < 2 4 1 < y < 2

*+,+-+ ./01 2; 2 3

f =
1

y exp(6x)

1 < x < 2 4 1 < y < 2

*+,+-+ ./01 2< 2 3

f =
1

6x+ x exp(6y)

1 < x < 2 4 0 < y < 1

*+,+-+ ./01 201 2 3

f =
1

1 + 9xy2

0 < x < 1 4 0 < y < 1

*+,+-+ ./01 2002 3

f =
1

2x+ x exp(5y)

1 < x < 2 4 0 < y < 1

*+,+-+ ./01 205 2 3

f =
1

3xy + 6y

1 < x < 2 4 1 < y < 2

*+,+-+ ./01 206 2 3

f =
1

(1 + 25x2)(1 + 36y2)

1 < x < 2 4 1 < y < 2

*+,+-+ ./01 207 2 3

f =
1

(1 + 36x2)(1 + 3y)

1 < x < 2 4 1 < y < 2



*+,+-+ ./01 208 2 3

f =
1

1 + x+ y/3

0 < x < 1 4 0 < y < 1

*+,+-+ ./01 209 2 3

f =
1

(1 + 2x)(1 + 9y2)

1 < x < 2 4 1 < y < 2

*+,+-+ ./01 20: 2 3

f =
1

5yx2 + 4xy

1 < x < 2 4 1 < y < 2

*+,+-+ ./01 20; 2 3

f =
1

5yx2 + 2xy

1 < x < 2 4 1 < y < 2

*+,+-+ ./01 20< 2 3

f =
1

(1 + 25x2)(1 + 4y2)

1 < x < 2 4 1 < y < 2

*+,+-+ ./01 251 2 3

f =
1

2x+ x exp(5y)

1 < x < 2 4 0 < y < 1

*+,+-+ ./01 2502 3

f =
1

y exp(5x)

1 < x < 2 4 1 < y < 2

*+,+-+ ./01 255 2 3

f =
1

(1 + 6x)(1 + 4y)

1 < x < 2 4 1 < y < 2

*+,+-+ ./01 256 2 3

f =
1

(1 + 16x2)(1 + 6y)

1 < x < 2 4 1 < y < 2

*+,+-+ ./01 257 2 3

f =
1

1 + x+ y/4

0 < x < 1 4 0 < y < 1

*+,+-+ ./01 258 2 3

f =
1

5yx2 + 2xy

1 < x < 2 4 1 < y < 2

*+,+-+ ./01 259 2 3

f =
1

y exp(3x)

0 < x < 1 4 1 < y < 2

*+,+-+ ./01 25: 2 3

f =
1

xy(1/2 + 4y2)

1 < x < 2 4 1 < y < 2

*+,+-+ ./01 25; 2 3

f =
1

6x+ x exp(2y)

1 < x < 2 4 0 < y < 1

*+,+-+ ./01 25< 2 3

f =
1

(1 + 4x2)(1 + 5y)

1 < x < 2 4 1 < y < 2

*+,+-+ ./01 261 2 3

f =
1

(1 + 36x2)(1 + 25y2)

1 < x < 2 4 1 < y < 2
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p · 103^ _` abcd

` `dd aefc
g fe ad_e
b c a`_e
h b ^a`ch
e ^c adg ^
f be a_b ^
_ c a`_e
d gf a^_`
^c hfe a_hb
^^ fh a```
^` ee abed
^g c a`ef
^b ` ahhc
^h e`^abfb
^e ^g aggg
^f bg ahbd
^_ hg ab`h
^d ` a^gf
`c fh a```
`^ c ad`_
`` ^h a^e ^
`g g a^^^
`b egf abff
`h hg ab`h
`e `^d ahbe
`f ec ag ^`
`_ f_ aceb
`d ^g a`hb
gc c a`ef
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